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............... iR & aRE Bew @ w9 4
ST ST 2 |
(A) T
(B) M

C) WeIs
(D) Riced

Uh G99 H, TP ol § Iod WRIg Wi

UM B 3de AR e @xe ard

AedR & wY | CIRVIEIRSIGIR
(A) DHIER

(B) ¥R

(C) 3TN

(D) TOITRER

MS-DOS ¥ WIgdl @I M daaf & forl
fort wHre @1 JART foar ST 8

(A) REN
(B) RENAME

(C) (A) 3R (B) &l

(D) RD

AG-706

(3)

Pictorial representation of an algorithm is

knownas .............

(A) Flowchart

(B) Program

(C) Pseudocode

(D) Syntax

Software that translates and executes a

high level language program in one line

at atimeis knownas .......... .

(A) Compiler

(B) Interpreter

(C) Assembler

(D) Executor

In MS-DOS, which command is used to

change the file name ?

(A) REN
(B) RENAME

(C) Both (A) and (B)

(D) RD
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4. YU ¥ Tordl 98l A Pl P A 4.  Resolving errors in a program is known

@' G'I:rl' W %l aS .............
(A) feafrT (A) Debugging
(B) WTREH (B) Correction
(C) TR IfepT (C) Error checking
(D) e ffea (D) Problem solving
5. UdEe ¥, i d Ydie & wg H 5. In flowchart, the terminal symbol is
TR fobar T 2 | denoted by .............
(A) (A)

® ([ ® [ ]
© \__\ © \_\

(D) <> (D)

6. fgemmy w=m (1000), SHHer ww&m - 6. Binary number (1000); is equivalent to

P NN £ decimal number :

(A) 1000 (A) 1000

(®) 4 (B) 4

© 8 ©) 8

(B) 16 (D) 16

7. RO =T 1+ 14 1 & A 7. The binary addition 1 + 1 + 1 gives

AR :

(A) 10 (A) 10

€) 111 © 111
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8. 93 W& @ T (100), — (011) &I 8. The result of binary subtraction

N (100), — (O11) S 1rrerreooe .
(A) 111 (A) 111
(B) 011 (B) 011
(C) o010 (C) 010
(D) 001 (D) 001
9.  URIMHT ¥rr & fegg o HEAd 2| 9. Rules of a programming lanauage are
called ..............
(A) Uisha (A) Procedures
(B) Rice (B) Syntax
(C) T (C) Methods
(D) T® (D) Logic
10. DH-I BAS Uh R a1 Sufcha 10.  Which command creates a directory or
T R ? subdirectory ?
(A) MD (A) MD
(B) CD (B) CD
(C) MKDIR (C) MKDIR
(D) (A) ¥R (C) T (D) Both (A) and (C)
11. I8 g § fa=forRed @ @ 11. In BASIC programming, what will the
I BT ? following code produce ?
FORI=0TOS5 FORI=0TO5
PRINT I PRINT |
NEXT | NEXT |
(A) 135 dh TR fic g (A) Print number from 1 to 5
(B) 035 dd TR} fic g (B) Print number from 0 to 5
(C) 0¥ 10 d% =R fifc & (C)  Print number from 0 to 10
(D) 19 10 TP =R fic B (D)  Print number from 1 to 10

AG-706 (5) Set-A



12. THard Uh g 12. Trackball is a/an ............... .

(A) e feared (A) Input device

(B) amScye f&ared (B) Output device

(C) TN ofvdw (C) Programming language
(D) WK (D) Software

13. BH-E PAE U & AW dffes 13. Which command displays all files

having same name but different

- URISYH drell vl Bl &l

extensions ?

yeRId &l & ?

(A) DIR filename .* (A) DIR filename .*
(B) DIR filename . ext (B) DIR filename . ext
(C) DIR** (C) DIR*.*

(D) DIR *.ext (D) DIR *.ext

14. 59 YR & R ¥ S P 3 14. In which type of computer data are

daat & wu F autar o & 7 represented as discrete signals ?
(A) TN SR (A) Analog Computer
(B) fefotee ryex (B) Digital Computer
(C) (A) 3R (B) T (C) Both (A) and (B)
(D) @Ig S HFYCN (D) Hybrid Computer

AG-706 (6) Set-A



15.

16.

17.

18.

I B elle o @ fog foa
HHS BT TN b e © 7

(A)
(B)
(©)
(D)

(A) Limited Area Network

(B)
(C) Large Area Network
(D) Local Area Network

DOS # &M &Rd 9 fUsell ST &l
Wmaﬁgﬂzwwiﬁ%ﬁﬁm
BRI Pl Bl JANT fHar oy & 2

(A) F3
(B) F6
(©) F9
(D) F12

JUE Gl U6 I H QR U S A
wr H§ uRafdd @ &, S
T 7 |

(A) FTX

(B) 3TN

(C) JITRfST RieH

DEL
FORMAT
RD
MOVE

Logical Area Network

(D) PHIEeR

AG-706

15.

16.

17.

18.

(7)

Which command is used to delete the
directory ?

(A) DEL
(B) FORMAT
(C) RD

(D) MOVE

LAN stands for .............. )

(A) Limited Area Network
(B) Logical Area Network
(C) Large Area Network
(D) Local Area Network

While working with DOS, which function
key is used to get the previous command

used ?

(A) F3
(B) F6
(C) F9
(D) F12

A program that converts entire program
into machine language at one time is

called ............ .

(A)

Interpreter
(B) Assembler
(©)

Operating system

(D)

Compiler

Set-A



19.

20.

21.

FRCX A9 AR R
A BT T G ¢ |

(A) T
(B) fefrea
) =l
(D) Suda Wl

$1%d C: ¥ §/%d D : ¥ test.doc -H &I
BT TANT fohar S|

(A)
(B)
(©)
(D)

Copy test.doctoa:
Copy c:\test.doc D :
CopyC:D:

Copy test.doc C :

d -9 g7 § O U & O @

AR T8l 9o @ ?
(A) 3R

(B) W

(C) iR

(D) Tafaat

AG-706

(8)

20.

21.

.......... computer combine both measuring

and counting.

(A) Analog

(B) Digital

(C) Hybrid

(D) All of the above

The command used to copy a file named

test.doc from drive C : to drive D :

iS e .

(A)
(B)
(©)
(D)

Copy test.doctoa:
Copy c:\test.doc D :
CopyC:D:

Copy test.doc C :

What are the values which do not change

during the execution of program ?

Constants

(A)
(B) Variables
(©)

Operators

Errors

(D)

Set-A



22.

23.

24,

CHKDSK ®HIS &I TN T el &

(A) T few@ @ Ffedi & fwem &
ford

(B) e &% @1 FfeAl & (=M & fory

fov W wial @ Rafd I &

forg

(D) Suda Wl

(©)

1 dIgc =
(A) 8 fica
(B) 4 ficH
(C) 2 fca
(D) 9 facH

(A) Tohd GITAT Red @ o o
fOmRIq FeT ST 2|

(B) YA BRI BT ol W e FRa
gl

(C) U@ B w9 @ ¥ e on
e e & |

(D) SWad # | BIg T2

AG-706

(9)

22.

23.

24,

CHKDSK command is used to :

(A) Analyze the hard disk error

(B) Diagnose the hard disk error

(©)

Report the status of files on disk

(D) All of the above

lbyte=........... :
(A) 8 bits
(B) 4 bits
(C) 2 bits

(D) 9 bits

Multiprogramming systems .............. .

(A) are easier to develop than single

programming systems.

(B)

execute each job faster.

(©)

execute more jobs in same time

period.
None of the above

(D)

Set-A



25. PRI £ qc B R 99 Ugd PHYCX 25.  Which is the first program run on a

¥ o aTel 9T BT § 2 computer when the computer boots up ?
(A) Red dfeRR (A) System software
(B) oiRfET ReH (B) Operating system
(C) R sffmeH (C) System operations
(D) Tw@3M AR (D) Application software
26. fa=foRad § ¥ @o9-9r AT RReq 26. Which of the following operating systems
T eRET T 8 TR 2 7 does not implement multitasking ?
(A) Windows 98 (A) Windows 98
(B) Windows 7 (B) Windows 7
(C) Windows XP (C) Windows XP
(D) MS-DOS (D) MS-DOS

27. dIET T (111), x (10), @I TRoTH 27. The result of binary multiplication

% | (111)2 X (10)2 IS v, .
(A) 1101 (A) 1101
(B) 0110 (B) 0110
(C) 1001 (C) 1001
(D) 1110 (D) 1110

28. i fSciie @ Y Brget H o 2 28.  All deleted filesgo to ............ .

(A) g BRI (A) My Computer
(B) SwheIT (B) Desktop

(C) Ra®a fad (C) Recycle bin
(D) #Ig SEHT (D) My Documents

AG-706 (10) Set-A



29.

30.

31.

AG-706

UG & HI H q AT S W ARE SAnT
T W PR A o fou 6 v @
T o e & ?

(A) Maximizing
(B) Minimizing
(C) Multitasking

(D) Task switching

MS-DOS #, Rieq @1 feid weRid e
& fory oy fo AT & SHANT a4 2
(A) Date BHIS
(B) Ver ®HIS
(C) Copy TS

(D) Format ®HIS

BASIC ¥, fr=faRed § & &F 16 79
AHIORIT FHRS Uelld T8l & 7

(A) +

B) -

© x

o) ~

(11)

29.

30.

31.

What is the term that is used when
working with two or more applications at

the same time ?

(A) Maximizing
(B) Minimizing
(C) Multitasking

(D) Task switching

In MS-DOS, what command you will use

to display system date ?

(A) Date command

(B) Ver command

(C) Copy command

(D) Format command

In BASIC, which of the following is not a

valid arithmetic operator symbol ?

(A) +
(B) -
(€) x

(D) ~

Set-A



3. fEfRm i oR s & W wu 9 32

YL T8l PRl & ?
(A) ROM

(B) RAM

(C) Tl %@
(D) TS fewm

33. COPY 3R XCOPY THI ®#ls U& & 33

3of ® v

(A) TH RS FHS & |

(B) T & HHIS ¥ |
(C) (A) 3R (B) &l

(D) THI & SWIN BIsd I Blsal &
TE B B FRA B forw fhar

il

34. MS-DOS # WhM @ W% & & fou 34,

fog PATS BT YANT T i & 2
(A) CD
(8) CLS
(C) MD

(D) RENAME

AG-706 (12)

Which of the following does not store

data permanently ?

(A) ROM
(B) RAM
(C) Floppy Disk

(D) Hard Disk

COPY and XCOPY commands are same

in the sense :

(A) Both are internal commands.

(B) Both are external commands.

(C) Both (A) and (B)

(D) Both can be used to copy file or

group of files.

In MS-DOS, which command is used to

clear the screen ?

(A) CD
(B) CLS
(C) MD

(D) RENAME

Set-A



35.

36.

37.

38.

AG-706

BASIC URIHT #  IF-THEN-ELSE

(A) 3STHC WTHS
(B) U W

(C) BSIMd WeHT

(D) 3MScye ¥CHS

BASIC U # fewft forgm & ferg fo
BT BT YANT {7 ST © 2

(A) LET

(B) INPUT

(C) PRINT
(D) REM

g

(A) 2

(B) 4

(C) 6

(D) 8

ALU & 31 B

(A) o @ fwre o MR e

(B) S W IIHIN &R difod
AT BT

(C) URUM & q& HANI § WR $H_AT

(D) SHIE W

(13)

35.

36.

37.

38.

IN BASIC programming IF-THEN-ELSE

IS e :
(A) Assignment statement
(B) Loop statement

(C) Conditional statement

(D) Output statement

Which statement is used for writing

comments in the BASIC program ?

(A) LET
(B) INPUT
(C) PRINT
(D) REM

The base of octal number system is ..........

(A) 2
(B) 4
€ 6
(D) 8

Function of ALU is :

(A) To control the execution of
instruction

(B) To perform arithmetic and logical

operation on data

(C) To store result in main memory

(D) All of the above

Set-A



39.

40.

41.

42.

AG-706

Frfried § ¥ @iF-a qed fiaen
HAYCN 8 7

(A) FTEHI BRI

(B) i P

(C) HTHH YR

(D) W TR

(A) ST TR

(B) #HIM W

(C) 3ridefl

(D) SWa ¥ ¥ IS T

(A) S

(B) W

(C) HF FARY

(D) (A) 3R (B) Sl

ffoRed & 9 o9 U6 ored W T8
g7

(A) 15

(B) 17

©€) 19

(D) 101

(14)

39.

40.

41.

42.

Which of the following is the most

powerful computer ?

(A) Micro Computer
(B) Mini Computer
(C) Mainframe Computer

(D) Super Computer

BASIC programming is a/an

language.

(A) High level
(B) Machine level
(C) Assembly

(D) None of the above

Magnetic disk is an example of .......... .
(A) Secondary memory

(B) Primary memory

(C) Main memory

(D) Both (A) and (B)

Which of the following is not an octal

number ?

(A) 15
(B) 17
(C) 19
(D) 101

Set-A



43. BASIC WOTRRT # Rgm = - g @ 43, In BASIC programming, string variables

AT I 2T AR | must end with a ........... sign.
(A) # (A) #
B) % (B) %
€ @ € @
D) $ D) $
44. 99 UGl 62} B BT G HCh o 44, Main component of first generation
computer was :
(A) SR (A) Transistors
(B) dagH TIA (B) Vacuum tubes
(C) ICRIcs AfdcH (C) Integrated circuits
(D) SUYH H ¥ Plg ol (D) None of the above
45. MS-DOS @I fbd BIgdl ¥ JdRS HHlS 45. In MS-DOS, which file contains internal
TR Edl 2 ? commands ?
(A) 10.SYS (A) 10.5YS
(B) MSDOS.SYS (B) MSDOS.SYS
(C) COMMAND.COM (C) COMMAND.COM
(D) CONFIG.SYS (D) CONFIG.SYS
46, f=feIRad @ls @ar fie & ? 46. What will the following code print ?
PRINT “4 + 6” PRINT “4 + 6”
(A) 4+6 (A) 4+6
(B) 10 (B) 10
(C) “4+6” (C) “4+6”
(D) “10” (D) “10”

AG-706 (15) Set-A



47.

48.

49,

50.

AG-706

MS-DOS # WIgd @ Udh SRNded d
T TN H o WM @ forg fa
BHIS BT TN fobar rerm & ?

(A) RENAME

(B) COPY

(C) cP

(D) MOVE

A BT T T T -
(A) 1011
(B) 1010
(C) 1000
(D) 1110

(16)

47.

48.

50.

In MS-DOS, which command is used to

move file from one directory to another ?

(A) RENAME
(B) COPY
(C) cpP

(D) MOVE

The binary equivalent of A is :

(A) 1011
(B) 1010
(C) 1000
(D) 1110

Operating system is also known as ........ .

(A) Database
(B) System software
(C) Hardware

(D) Application software

Select the odd one :
(A) Operating system
(B) Interpreter

(C) Compiler

(D) Assembler

Set-A



51.

52.

53.

AG-706

f=fead § | B SifoRfST Riwed & ?

(A)  Windows
(B) Unix
(C) 0s/2

(D) Suda Wl

7 B 157 1 1 B 1 1 | R R G 7 BRI
Rt e et & o fopar o 2

(A) e

(B) wdie

(C) SRIR<®

(D) dre U

MS-DOS ¥, DIR &€ & YA foar

I & :

(A) R 5 wgal @ gE e
oA B fory

(B) R # wIgell & AW USrid
oA B fory

(C) UF SU-FRE § BEal & UOR
TefRfd ox1 @ fov

(D) SHIE W

(17)

51.

52.

53.

Which of the following is/are operating
systems ?

(A)  Windows

(B) Unix

(C) 0©s/2

(D) All of the above

............ are used for plotting graphs and

design on papers.

(A) Plotters
(B) Trackball
(C) Joystick

(D) Light Pen

In MS-DOS, DIR command is used

to:

(A) Display a list of files in a directory

(B) Display contents of files in a

directory

(C) Display type of files in a

subdirectory

(D) All of the above

Set-A



54, W9 Py HFICY dlel BT § Al gfeT 54. When a computer is switched on, the

gfaT 1 AR a2 booting process performs ............ .
(A) Integrity Test (A) Integrity Test

(B) Power on Self Test (B) Power on Self Test

(C) Correcting Function Test (C) Correcting Function Test
(D) Reliability Test (D) Reliability Test

55. 3ccS dAfhe TSR @l fbw digl A 55. Integrated circuits are related to which

TR & 7 generation of computers ?
(A) Ul UIdl (A) First Generation
(B) A UGl (B) Second Generation
(C) I’ diet (C) Third Generation
(D) TRl gl (D) Fourth Generation

56. BRI B3 TNE 9 Sl § 9Sld PR 8 56. Computers manipulate data in many ways

IR 36 e B qeaE B WA Fea and this mainpulation is called :
g

(A) IR (A) Upgrading

(B) SIRIRMT (B) Processing

(C) Sfem (C) Batching

(D) Ffeamgform (D) Utilizing

AG-706 (18) Set-A



57. fr=foRed & 9 oF-9) grnfdT 9 T8
g7

(A) BASIC
(B) COBOL
(C) C++

(D) MS-Excel

58. ALU 3R $giel e & Tgad wU A

(A) RAM
(B) ROM
(C) CPU
(D) PC

59. SUMA W& 75 @ [GAMHN WA
g

(A) 1001011
(B) 1011001
(C) 1101001
(D) 1011110

60. QBASIC fdSI @1 &pF @ 9% X1 &
fore forg wHTS b1 SUANT fobar oirem & ?

(A) CLR
(B) CLS
(C) REM
(D) LET

AG-706 (19)

57.

58.

59.

60.

Which one of the following is not a

programming language ?

(A) BASIC
(B) COBOL
(C) C++

(D) MS-Excel

ALU and control unit are jointly known

as ... .

(A) RAM
(B) ROM
(C) CPU
(D) PC

The binary equivalent of decimal number

751is :

(A) 1001011
(B) 1011001
(C) 1101001
(D) 1011110

Which command is used to clear the

screen of QBASIC window ?

(A) CLR
(B) CLS
(C) REM
(D) LET

Set-A



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR GRITIT STR—
A, B,CTd D& | Wendi & S IR fddedi # 9
TP FE FE T GeH SHE SR Bl © |
IR Bl OMR NRR-e § Fid go dwar §
e JR WA 2
SRR
'EL
1 @ © O
w2 (A ® O
w3 D @ © ©
G IR AT WY TR = plel I7 987 T
2, T T | ST R A7 T, S R IR
feam S |

5. UAP UM B b GEM & AP fordd SR
e B, I B AR 3P YIM b SR |

6. T SR dad 3l TH. 3R, SR-U5F (OMR
Answer Sheet) R 8 A 99 2| SRS |
fRgiRd Yo & 3remar 3 del W foar wan
IR A=Y 8] 81|

7. il TH. 3R. STR-U5& (OMR Answer Sheet)
B W foras 9 @ I oI W W et @
WYY Ue fora S |

8. WIeT 9Ud & ST Wt der fRierd @
3T OMR Answer Sheet SUTE &RM & I
B WeT B W W By | weneff oo ey
TE-QRAHT o S A ¢ |

9. fanfeq mfeT = 2|

10. @15 A WG BR, YH-YRAdE & 3 H, WH-IR
& forv fou @reh o W & far o =iy |

11, UE-%e ¥ dN-ga, deldeicy, Yok a0l Heger
B o SHT T BT START BRAT afoid 8 |

12. 9 & B U9 IS WURRY § A=ar 89 &
T H YT BT U WURYT & A BT |

Fecaqul  YEIYRKIT Wiel W Y Wi PR ol o

2y
i3
E
oy,
a,
j
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